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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What should come at place of the question mark (?) in the following number series ?

Q.11:- 27 , 50 , 192 , 1140 , 9104 , ?

(A)90400 (B)91020 (C)92040 (D)94060 (E) 96080
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What should come at place of the question mark (?) in the following number series ?

Q.12:- 4 , 7 , 13 , 23 , 38 , 59 , ?  

(A)72 (B)80 (C)87 (D)95 (E) None of these
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What should come at place of the question mark (?) in the following number series ?

Q.13:- 6 , 11 , 32 , 111 , 464 , ?   

(A)2345 (B)2475 (C)2525 (D)3050 (E) 2640
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What should come at place of the question mark (?) in the following number series ?

Q.14:- 2, 12 , 36 , 80 , ?, 252 , 392 

(A)80 (B)100 (C)120 (D)150 (E)None of these
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What should come at place of the question mark (?) in the following number series ?

Q.15:- 2, 6 , 33 , 49 , 174 , 210 , ?

(A)275 (B)387 (C)464 (D)553 (E)495
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Direction (1–5): In each question two equations numbered (I) and (II) are given. You 
have to solve both the equations and mark appropriate answer.

(a) If x = y or no relation can be established 

(b) If x > y 

(c) If x < y 

(d) If x ≥ y 

(e) If x ≤ y
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Q.16 :- I. x2 − 50x +589  = 0                  II.  y2 −19𝑦−416  = 0

Q.17 :- I. 6x2 +9x +3 = 0 II. 8y2 −13y + 5 = 0

Q.18 :- I. 20x2 −x −12 = 0 II. 20y2 +27𝑦+ 9= 0

Q.19 :- I. 3x2 −13x +14 = 0 II. y2 −7𝑦+12 = 0

Q.20 :- I.2x2 −17x+ 36 = 0 II. 15y² −16y+4 = 0
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(A)40 (B)32 (C)36 (D)48 (E)54

Present age of a man is four times more than his son and four yeas ago the age of man was 
nine times of the age of his son. Find the present age of the man?
एकव्यक्तिकी वर्तमानआयु उसके पुत्र से चार गुना अधिक हैऔरचार वर्त पहलेव्यक्तिकीआयु
उसके पुत्रकीआयु की नौ गुना थी ।व्यक्तिकी वर्तमानआयु ज्ञार्कीधिए।
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)24 (B)18 (C)12 (D)16 (E)20

Two pipes A & B individually fill an empty tank in 15 hours and 45 hours respectively. A 
pipe C can empty the same tank in 30 hours. If all three pipes opened together in the tank, 
then in how many hours the tank will be filled completely? 
दो पाइपA और B एकलरूप से एकखाली टैंककोक्रमश: 15 घंटे और 45 घंटे में भररे् हैं। एक
पाइपC उसी टैंकको 30 घंटे में खालीकरसकर्ा है। यधद टैंक में र्ीनो ं पाइप एकसाथखोल धदए
िाएं, र्ो टैंक धकर्ने घंटे में पूरी र्रह भरिाएगा।
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http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)900 (B)1250 (C)750 (D)1500 (E)1000

A and B started a business by investing amount of Rs. 5000 & Rs. 15000 respectively. If after six 
months B left the business and the profit share of B is Rs. 600 after one year, then find the total 
profit? 
A और B क्रमश: 5000 और 15000 रुपये की राधश का धनवेशकरके एकव्यवसाय शुरूकररे् हैं।
यधद छह महीने के बाद B ने व्यवसायछोड़ देर्ा है और एक वर्त के बाद B का लाभ धहस्सा 600 रु
है, र्ो कुल लाभ ज्ञार् कीधिए ।
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)13 (B)5 (C)9 (D)11 (E) 7

Average of four consecutive even numbers is 37 and average of four consecutive odd 
numbers is 30. Find difference between highest even number and second smallest odd 
number?
चारक्रमागर्सम संख्याओंकाऔसर् 37 है र्था चारक्रमागर् धवर्म संख्याओंकाऔसर् 30 है।
अधिकर्मसम संख्याऔर दूसरी नू्यनर्म धवर्म संख्या के बीचका अंर्र ज्ञार्कीधिए ।

E04613
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(A)18 (B)10 (C)16 (D)12 (E)14

Speed of boat in upstream is 60% of the speed of boat in downstream. The speed of boat in 
still water is 6 km/hr more than the speed of stream. Find the total time taken by boat to 
cover 70 km in downstream and 30 km in upstream together?
िारा के प्रधर्कूल नावकी चाल, िारा के अनुकूल नावकी चालका 60% है। शांर् िलमें नावकी
चाल िारा की चाल से 6 धकमी / घंटा अधिक है। नाव द्वारा िारा के अनुकूल 70 धकमीऔरिारा के
प्रधर्कूल 30 धकमीकी दूरी को धमलाकर कुलसमयज्ञार्कीधिए ।
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)250m (B)200m (C)300m (D)400m (E)350m

A train cross a pole in 25 seconds and a 240 meters long platform in 40 seconds. Find the 
length of the train?

एक रेलगाड़ी एकखमे्भको 25 सेकण्डऔर 240 मीटर लमे्ब पे्लटफामत को 40 सेकण्डमें पारकरर्ी
है। रेलगाड़ी की लंबाई ज्ञार्कीधिए ।
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A) 12 (B)15 (C)16 (D)14 (E)11

A alone can complete a work in 25 days and B alone can complete the same work in 15 days. 
If C is 60% less efficient than B, then find time taken by A and C together to complete the 
same work?
A अकेला एककायत को 25 धदनो ं में पूरा करसकर्ा हैऔर B अकेला उसी कायत को 15 धदनो ं में पूरा
करसकर्ा है। यधदC, B से 60% कम कुशल है, र्ोA औरC द्वारा धमलकरसमानकायत को पूरा
करने में धलया गया समयज्ञार्कीधिए ।
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)1120 (B) 1020 (C) 1280 (D)1200 (E)None of these

A man sells a chair at Rs.960 and earns a profit of 20%. If the man wants to sell it at a profit 
of 40%, then at what price he should sell the chair?

एकव्यक्तिएक कुसीको 960 रुपये में बेचर्ा हैऔर 20% कालाभअधितर्करर्ा है। यधदव्यक्ति
इसे 40% के लाभ पर बेचना चाहर्ा है, र्ो उसे कुसीको धकसकीमर् पर बेचना चाधहए?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)16000 (B) 24000 (C)20000 (D)15000 (E)25000

A borrowed Rs. P from B at 20% p.a. on compound interest annually. If A paid total amount 
of Rs.34,560 to B for settle his debt after three years, then find value of P? 
A, B से प्रधर्वर्त 20% की दर से P रु वाधर्तकरूप से संयोधिर्ब्याि पर उिार लेर्ा है। यधदA र्ीन
वर्ों के बादअपने ऋणका धनपटानकरने के धलए B को कुल 34,560 रुपये का भुगर्ानकरर्ा है, 
र्ो P का मान ज्ञार्कीधिए।
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A) 21000 (B)10500 (C)10000 (D)28000 (E)13500

An amount is divided among A, B and C in the ratio of 1:4:3 respectively. If the amount 
received by C is Rs. 14,000 more than the amount received by A, then find the amount 
received by B?
एक राधशकोA, B औरC में क्रमश: 1:4:3 के अनुपार् में धवभाधिर्में धकया िार्ा है। यधदC द्वारा
प्राप्त राधश, A को प्राप्त राधश से 14,000 रु. अधिक है, र्ो B को प्राप्त राधश ज्ञार्कीधिए |
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)20 cm (B) 16 cm (C)28 cm (D)24 cm (E)32cm

The area of a rectangle is equal to the area of a square whose diagonal is 4√6 cm. If the ratio 
of the length and width of the rectangle is 4:3, then find the perimeter of the rectangle?

एकआयर्का के्षत्रफल, एकवगत के के्षत्रफल के बराबर है धिसका धवकणत 4√6 सेमी है। यधदआयर्
की लंबाईऔरचौड़ाईकाअनुपार् 4:3 है, र्ोआयर्का पररमाप ज्ञार्कीधिए |

E04613
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(A)82.6 (B)81.6 (C)82.8 (D)80.6 (E)79.6

What value should come in the place of question mark(?)in the following questions?

6 . 35% of 260 − 24% of 35 = ?

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What approximate  value should come in the place of question mark(?)in the following 
questions?

Q.1:- 31526.994 ÷ ? = 64.03

(A)1167 (B)1165 (C )1163 (D)1161 (E)1159

What value should come in the place of question mark(?)in the following questions?

7. 1176 − 60 × 25% = ?

E04613

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What approximate  value should come in the place of question mark(?)in the following 
questions?

Q.1:- 31526.994 ÷ ? = 64.03

(A)34.5 (B)30.5 (C )31.5 (D)32.5 (E) 36.5

What value should come in the place of question mark(?)in the following questions?

8. ( ? + 8² ) = 50% of 193 

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What approximate  value should come in the place of question mark(?)in the following 
questions?

Q.1:- 31526.994 ÷ ? = 64.03

(A)5 (B)4 (C )7 (D)3 (E)6

What value should come in the place of question mark(?)in the following questions?

9. 48% of 125 + ?³ = 185 

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What approximate  value should come in the place of question mark(?)in the following 
questions?

Q.1:- 31526.994 ÷ ? = 64.03

(A)196.52 (B)188.52 (C )192.52 (D) 194.52 (E)186.52

What value should come in the place of question mark(?)in the following questions?

10. 128.48 + ? = 7³ − √484  

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

11. (?% of 480 ) ÷ ( 4% of 540 ) = 5.6 

(A)25.2 (B)27 (C)21.6 (D)24 (E)23.4

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

12. 2000 ÷ 50 × 3 + 5 = (?)³ 

(A)5 (B)8 (C)9 (D)2 (E)3

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

13. 343 + 243  + 512 = 20% of ?

(A)4590 (B)5490 (C)6490 (D)6140 (E)5290

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

14. 264 ÷ 8 × 12 + 224 − 64 = ?

(A)450 (B)350 (C)465 (D)655 (E)None of these

E04613
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

15. 4846 + 3454 +5156 = ? + 11342  

(A)2114 (B)2314 (C)2144 (D)2014 (E)None of these

E04613
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Bar graph given below shows total number of animals in four different zoos. Read the data carefully 
and answer the questions. 
नीचे धदया गया बार ग्राफ चार अलग-अलग धचधड़याघरो ं में िानवरो ं की कुल संख्या को दशातर्ा है।
आकड़ोंका ध्यानपूवतक अध्ययनकरें और प्रश्ो ं के उत्तर दें।
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)84% (B)72% (C)96% (D)70% (E)62%

Total number of animals in zoo E are 45/6% more than that of in zoo D, then find total 
animals in zoo E are what percent more than that of in zoo A?
धचधड़याघरमें िानवरो ंकी कुल संख्या, धचधड़याघरD की रु्लना में 45/6% अधिक है, र्ो धचधड़याघर
E में कुलिानवरो ंकी संख्या, धचधड़याघरA में कुलिानवरो ंकी संख्या से धकर्ने प्रधर्शर्अधिक
है?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)80 (B)75 (C)150 (D)50 (E)100

Find difference between average number of animals in zoo A & B and total number of 
animals in zoo D?
धचधड़याघरA और B में िानवरो ंकीऔसर् संख्याऔर धचधड़याघरD में िानवरो ंकी कुल संख्या
के बीच अंर्र ज्ञार्कीधिए ।
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)70% (B)80% (C)60% (D)40% (E)50%

Total animals in zoo C are what percent of total animals in zoo A & B together? 

धचधड़याघरC में कुलिानवर, धचधड़याघरA और B में धमलाकर कुलिानवरो ंका धकर्ना प्रधर्शर्
है?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)5:8 (B) 6:5 (C)5:4 (D)5:7 (E)5:6

If total animals in zoo G are 40% less than total number of animals in zoo C & D together, 
then find the ratio of total animals in zoo B to that of in ZOO G?
यधद धचधड़याघरG में कुलिानवर, धचधड़याघरC औरD में धमलाकर कुलिानवरो ंकी संख्या से
40% कमहैं, र्ो धचधड़याघरB में कुलिानवरो ंका धचधड़याघरG में कुलिानवरो ं से अनुपार् ज्ञार्
कीधिए ।
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)1100 (B) 1400 (C)1500 (D) 1300 (E)1200

Find total number of animals in all four zoos?

चारो ं धचधड़याघरो ंमें िानवरो ंकी कुल संख्या ज्ञार्कीधिए।
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